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#include <stdio.h>
#include <pthread.h>
(gdb) disas /m increment
3 — . Dump of assembler code for function increment:
int gl°bal—x =0; 6 void* increment() {
0x0000000000401146 <+0>: push  %rbp
)(m)‘/' 0x0000000000401147 <+1>: mov  %rsp,%rbp
voidkx increment() { ;;;:::;;::I
7/ global x += 1;
global_x += 1; & 0x000! 000401143 <t+4>: movZ 0x2ee8(%rip) ,%eax # 0x404038 <global_x>
= 0x0000000000401150 <+10>: | add  $0x1,%eax
return NULL; 0x0000000000401153 <+13>: mov  %eax,@x2edf(%rip) # 0x404038 <global_x>
} 8 return NULL;
0x0000000000401159 <+19>:  mov  $0x0,%eax
. . g 9 }
int main(int argc, char: 0x000000000040115e <+24>: pop  S%rbp
pthread_t tidl, tid2; 0x000000000040115F <+25>: ret
- ’ ’
— Y
pthread_create(&tidl, NULL, increment, NULL);
P —
5 pthread_create(&tid?, NULL, increment, NULL);
pthread_join(tidl, NULL);
L pthread_join(tid2, NULL);
-7 —
L printf("sd\n", global_x); // minimum? maximum?
return 0;
}



